
CSci 2033 Practice Exercises Set #8 Feb. 21, 2018

1 Text: Set 1.9 : Practice Ex # 2; and Exerci-
ces15, 17, 21. Set 2.1 : Pr. Exercise # 2; and
exercises: 5, 9, 17, 19.

2 Let T be a linear mapping from R2 to R3.
T is represented by a matrix A (‘standard ma-
trix’). What is size is this matrix? Determine
A if we know that

T

([
−1
1

])
=

 3
0
−1

 and T

([
−1
2

])
=

51
0


3 Calculate the product matrix C = AB in
the following case:

A =

2 0 −1
1 1 2
0 1 −2

B =

−2 −1
−1 3
−2 1




